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ﬁfﬁ; TREOBEBOSILHOKRES TERFDOHBEEILNOKRES TEFEOBEBOEILHOKRES TREOHBESEILADKES
5 X 4 B | Timh o DR jmxa;é R 4 TIwmALDKE [ F& Jjo)jtajé R 4 B | LmhooE jjo)jtajé HiEhooks | & jmjtéfé
(m) (m) (kN/ ) EEBf(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
7 100kN/mM%BZ 5 -~ -|3mEBZD -~ - 100kN/mM%#8% % - -~ -|3mEBZD -~ -
s 1.00 | 000 ~ 492 61.29 | =nh4 | 000 ~ 000\ 1.67 7.91 st 1.00 | 6.00 ~ 5.60 61.29 | =hst | 5.00 ~ 56.60)| 1.567 7.91
2 100kN/m##8%% | 1.00 | 000 ~ 048| 10717 |3m%E8BZ% -~ 100kN/mM&#8z25 | 1.00 | 11.75 ~ 1360| 10717 |3mZE#BzZ5b -~
s 1.00 | 048 ~ 827 100.00 | =nlst | 0.00 ~ 827 1.98 10.01 st 1.00 | .00 ~ 1175 100.00 | =nst | 6.00 ~ 1360 1.98 10.01
3 100kN/ M=% | 1.00 | 000 ~ 119 117.91 |3m%E#BZ 5 ~ 100kN/mM%&#8z25 | 1.00 | 1205 ~ 1810| 11791 |3mZE#BzZ5 -~
s 1.00 | 119 ~ 897 100.00 | #nst | 000 ~ 897|213 10.77 st 1.00 | 6.00 ~ 1205 100.00 | =hst | 6.00 ~ 1810| 2.13 10.77
4 100kN/m%EBZ5 | 1.00| 000 ~ 157 12395 |3mEBZD ~ 100kN/mM&#z25 | 1.00 | 1094 ~ 17.40| 12395 |3mZE#BzZ5 -~
s 1.00 | 1.57 ~ 9.35 100.00 | =4t | 0oo ~ 935 223 11.29 st 1.00 | 6.00 ~ 1094 100.00 | =hst | 6.00 ~ 1740| 2.23 11.29
5 100kN/mi%E#2% | 1.00 | 000 ~ 164 125.14 |3m%E#BZ 5 ~ 100kN/mM&#z25 | 1.00 | 10.70 ~ 17.00| 125 14 |3mZE#BZ5 -~
s 1.00 | 1.64 ~ 943 100.00 | #nlst | 0.00 ~ 9.43| 2.28 11.53 st 1.00 | 6.00 ~ 1070 100.00 | =nst | 6.00 ~ 1700)| 2.28 11.58
P 100kN/mi%E#82%5 | 1.00|0.00 ~ 119 117.94 |3m%E#BZ 5 ~ 100kN/mM%&#z25 | 1.00 | 1065 ~ 1430| 11794 |3mZE#BZ5 -~
s 100|119 ~ 897 100.00 | #=nhst | 0.00 ~ 897|227 11.45 st 1.00 | 6.00 ~ 1065 100.00 | =nhst | 6.00 ~ 1430)| 2.27 11.45
- 100kN/m#E#82% | 1.00 ) 000 ~ 141 121.41 |3mZiBAD ~ 100kN/mM%&#z25 | 1.00 | 1055 ~ 1510 121.41 |3mZE#BzZ5 -~
s 1.00 | 1.41 ~ 919 100.00 | =St | 0.00 ~ 9.19 | 2.41 12.20 st 1.00 | 6.00 ~ 1055 100.00 | #nLsy | 6,00 ~ 1510 2.41 12.20
P 100kN/mi#E#2% | 1.00|0.00 ~ 209 132.31 |3m%E#BZ 5 ~ 100kN/mM%&#z25 | 1.00 | 1053 ~ 1850 13231 |3mZE#BzZ5b -~
s 1.00 | 209 ~ 987 100.00 | #nlst | 0.00 ~ 9.87| 2.38 12.06 st 1.00 | 6.00 ~ 1053 100.00 | =hst | 6.00 ~ 1850| 2.38 12.06
9 100kN/m%#8%% | 1.00 | 000 ~ 252| 139.45 |3m%EBZ% ~ 100kN/m&#z25 | 1.00 | 1053 ~ 21.60| 139.45 |3m%E#BZ5 -~
s 1.00 | 2562 ~ 1030 100.00 | =nhst | 0oo ~ 1030 2.70 13.66 st 1.00 | 6.00 ~ 1053 100.00 | =hst | 6.00 ~ 2160| 2.70 13.66
10 100kN/m# %% | 1.00 | 000 ~ 082 11227 |3m%x8BZx5% ~ 100kN/mZ#8z5 | 1.00 | 1092 ~ 1370 11227 |3mZ#Bz25 -~
s 1.00 | 082 ~ 861 100.00 | #nllst | 0.00 ~ 861 | 2.06 10.41 st 1.00 | 6.00 ~ 1092 100.00 | =nst | 6.00 ~ 1370 2.06 10.41
11 100kN/m##82% | 1.00 000 ~ 171 126.23 |3m%E#BZ5 ~ 100kN/mM%&#z25 | 1.00 | 10.71 ~ 17.40| 126.23 |3m%E#BzZ5 -~
s 1.00 | 1.71 ~ 950 100.00 | =4t | 0oo ~ 950 | 228 11.52 st 1.00 | .00 ~ 1071 100.00 | =hst | 6.00 ~ 1740| 2.28 11.52
12 100kN/mM%#BZ % ~ -|3mEBZD ~ 100kN/m%#8% % ~ -|3mEBZD -~
s 1.00 | 0.00 ~ 748 95.59 | =nLS | 000 ~ 748 1.97 9.96 st 1.00 | 6.00 ~ 1090 95.59 | =hLS | 5,00 ~ 1090 1.97 9.96
13 100kN/mM%#BZ % ~ -|3mEBZD ~ 100kN/mM%#8% % ~ -|3mEBZD -~
s 1.00 | 0.00 ~ 545 68.05 | FnLSY | 0.00 ~ 0.00| 1.67 7.91 st 1.00 | 6.00 ~ 6.50 68.05 | Thst | 6.00 ~ 6.50)| 1.67 7.91
14 100kN/mM%#BZ % ~ -|3mEBZD ~ 100kN/m%#8% % ~ -|3mEBZD -~
s 1.00 | 000 ~ 4.75 59.19 | =N | 000 ~ 4.75| 1.78 9.00 st 1.00 | 6.00 ~ 5.00 59.19 | =n4 | 5.00 ~ 6.00| 1.78 9.00
15 100kN/mM%#BZ % ~ -|3mEBZD ~ 100kN/mM%#8% % ~ -|3mEBZD -~
s 1.00 | 0.00 ~ 692 87.61 | =4t | 000 ~ 0.00| 1.70 8.61 st 1.00 | 6.00 ~ 860 87.61 | #nst | 6.00 ~ 860 | 1.70 8.61
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5 X 4 B | Timh o DR jmxa;é R 4 TiRALDKE [ FE jmxajé R 4 B | LmhooE jw)xajé K 4 HiEhooks | & jmjtéjé
(m) (m) (kN/ ) EEBfE(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
16 100kN/mM%BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~ -
s 1.00 | 0.00 ~ 477 59.40 | =hst | 0.00 ~ 000 1.69 8.66 st 1.00 | 6.00 ~ 5.00 59.40 | =nh4 | 5.00 ~ 56.00| 1.69 8.66
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/mM#%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ ZFhLst ~ Fhst ~ zhLst ~
100kN/mM%BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhest ~ Fhst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM#%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ FhLst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ ZFhst ~ FhLst ~ st ~
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